S
. S e |2 |
A ~~ Qo i
g g/ v~ 8 %
g & m = - \
L i §.o% S 2
T 3 s%53 ) S| 8 & 5 § 8
S =385 S S| s 8] °
S g = 83| =X K <\
= 8§ |2 | g W S
- — = S = S S
- E 1S 8 = -8 8
; S 2 8 S5 8
S | 8| 3 NEIRS
—_— uj >N S ~
. 8385 2 1S N=| S
S wiid S°9 Q S 888 = S
g =8 5c T 8888 S
s Q&5 SIBT2® S8 w
ES I S SEER S8 S
N= 58 S |S§83s €5 ©
o SESS € 8 N
I N8 S =
[S) S S S
N8 N £
Q m Qc m 5 S
g . 3 NN
S KN £ |w = | 8 ©
] § & |8 S o s
S a |8 ] = | § 2
- |-0Q rIMOAZYrOa 1904 I3INOX - S—
6€°91G+0 Wy M
G799 1599 Sq [00016+0
i
w00+ 12799 18699 00°005+0
1600+ [6€°99 [0£'99 o 1 00'067+0
80'0+ [9€'99 18299 00°08%+0
900+ [€€°99 11299 00°0L+0
900+ [0€°99 17299 00°09%+0
1900+ {2299 11299 _ 10005740
00+ {4299 11199 ~ looopp+0
80'0+ [12'99 €199 00°0£4+0
100+ 81°99 11199 | SIS 00°024+0
00°60%+0 W) 010+ {5199 160'99 0004140
Aoeleiuiemz boud “Joud
w10+ {2199 18659 00°001+0
110+ (6099 18659 = | 00'06€+0
1800+ {9099 18659 00°08€+0
200+ [£0°99 110'99 00°0£€+0
0'0+ [00'99 2659 00'09€+0
200+ [/6'S9 15659 £33 1 0005€+0
i
900+ [6'59 18859 00'0¥E+0
900+ [16'G9 19859 00'0£€+0
T B0+ 8899 /869 00°0Z€+0
200+ [£6'G9 11659 = {000LE+0
500+ [26'G9 126'59 00°00€+0
£0'0+ 120'99 16659 00'062+0
fioxzs op eboip s 400+ [90°99 {5099 00'08Z+0
00 1199 2199 = 1000240
01992 200+ [G1°99 €199 00°092+0
88°LG¢+0 Wy
00- | €199 99 00°05Z+0
6099 {6099 00'072+0
5099 [50'99 & T|L 00'0gz+0
600+ [L0'99 18659 00'022+0
200+ [26'59 196'59 0004240
400+ [€6'59 26'59 00°002+0
00°G61L+0 Wy
fokfeiujemz 6oud “foid ) ) - .
00- | 16869 10659 & 1 00'061+0
18592 T
PS78L+0 WY . . . .
400+ 188'G9 /8G9 00'084+0
100+ [06'G9 16859 00'0L4+0
400+ [26'59 1699 00'094+0
400+ [6'S9 €659 = 100054+
200+ 19669 7659 | wfee 00'074+0
200+ 8669 {5669 | | 00'0§1+0
00- | 10099 1099 wm 00°024+0
A
200- | 2099 7099 0004440
00+ [0'99 1£0°99 00°004+0
90992 £0'0+ {9099 }£0°99 e 1 00°060+0
86'880+0 WY o
000+ [2099 16659 00'080+0
500+ [86'G9 1£6'G59 00°0£0+0
400+ 1659 €659 _ 10009040
00+ 1069 19859 | i || = | 00'050+0
2(1 . 500+ 98'G9 [18'99 00'050+0
T _ena s ogiguy 52660+0 W .
£ | o MORHZEMENTZA RS aolion 500+ [28'G9 11269 S | 00°0£0+0
2355 =
EAER: €00+ 18269 16159 00'020+0
§ |oMOIuS-000L0s0WN p1'69°7) Sk
3 _| obemoyiuzdmesyhzid nys1os “zood 00°010+0 W 1200+ {7269 1269 S Mmoo.oroé
N B S
e 6,692 . e | /& T 1o
[ - < 6159 16169 T, 1 00000+0
£ = 1-4d FIMOAZVIOad 1I90dA M3LVZO00d € gj ol 2 [ g | 2| 2| w
= | £ ©
O o e X  N| ©| © S o) =
N = US| = || |3 @
el =Zg8|c|29| IS
Sle|3|3| <
S| S| ==
[<b} | o D
EIR: AR
> | S
N
o (a1 o




